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@ Tip

This tutorial builds off of some of the ideas first presented in this tutorial on interactions.

1 Get Data

library(Statamarkdown)

We start by obtaining simulated data from StataCorp.


https://agrogan1.github.io/newstuff/categorical/logistic-interactions-2/logistic-interactions-2.html

clear all

use http://www.stata-press.com/data/r15/margex, clear

(Artificial data for margins)

2 describe The Data

The variables are as follows:

describe

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categorical\logistic-plotting-
> margins\profile.do .

Contains data from http://www.stata-press.com/data/ri5/margex.dta

Observations: 3,000 Artificial data for margins
Variables: 11 27 Nov 2016 14:27

Variable Storage Display Value
name type format label Variable label

v float  %6.1f

outcome byte %2.0f

sex byte %6.0f sex1bl

group byte %2.0f

age float  %3.0f

distance float  %6.2f

ycn float  %6.1f

yc float  %6.1f

treatment byte %2.0f

agegroup byte %8.0g agelab

arm byte %8.0g

Sorted by: group



3 Estimate logit

We then run a logistic regression model in which outcome is the dependent variable. sex, age
and group are the independent variables. We estimate an interaction of sex and age.

We note that the regression coefficient for the interaction term is not statistically

significant.

logit outcome sex##c.age i.group

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categorical\logistic-plotting-

> margins\prof
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4 margins

I use the margins command to estimate predicted probabilities at different values of sex and
age.

I use the pwcompare option to get pairwise comparisons. This gives us a lot of output, which
I have made scrollable to improve readability.

I’'m not going to want to graph all of this output, so I’'m saving these margins to a data file
from which I can make a customized graph.

margins sex, at(age = (20 30 40 50 60)) pwcompare saving(marginsdemo.dta, replace)

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categoricalllogistic-plotting-
> margins\profile.do . margins sex, at(age = (20 30 40 50 60)) pwcompare saving(marginsdemo.
> lace)

Pairwise comparisons of predictive margins Number of obs = 3,000
Model VCE: 0IM

Expression: Pr(outcome), predict()
1._at: age = 20
2._at: age = 30
3._at: age = 40
4. _at: age = 50
5. _at: age = 60

| Delta-method Unadjusted
| Contrast std. err. [95% conf. intervall
__________________________ e

_at#sex |

(1#female) vs (1#male) | .0102685 .007277T7 -.0039956 .0245325
(2#male) vs (1#male) | .0214202 .0029968 .0155466 .0272938
(2#female) vs (1#male) | .044561 .0099352 .0250884 .0640335
(3#male) vs (1#male) | .0702044 .0066437 .0571829 .0832258
(3#tfemale) vs (1#male) | .1179267 .0122683 .0938813 .1419721
(4#male) vs (1#male) | .1698721 .0172084 .1361443 .2035999
(4#tfemale) vs (1#male) | .2527094 .0173073 .2187878 .286631
(5#male) vs (1#male) | .3367733 .0439099 .2507114 .4228352
(5#female) vs (1#male) | .4463801 .0328339 .3820268 .5107333
(2#tmale) vs (1#female) | .0111518 .0093316 -.0071379 .0294415
(2#tfemale) vs (1#female) | .0342925 .0032639 .0278954 .0406896
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5 use Data File With margins

Now I’'m going to use the data file with margins. It’s worth taking a look at.
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use marginsdemo.dta, clear

describe

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categorical\logistic-plotting-
> margins\profile.do
(Created by command margins; also see char list)

Contains data from marginsdemo.dta

Observations: 45 Created by command margins;
also see char list
Variables: 16 29 Apr 2024 14:35
Variable Storage Display Value
name type format label Variable label

_deriv byte %9.0g Derivatives w.r.t.

_term byte %9.0g _term Margin term index

_predict byte %9.0g predict() option index

_at byte %9.0g Covariates fixed values index
_atopt byte %22.0g _atopt at() option index

_margin float %9.0g Pr(outcome), predict()
_se_margin float  %9.0g Standard error
_statistic float %9.0g z-statistic
_pvalue float  %9.0g P>|z|
_ci 1b float %9.0g 95% Confidence interval, LB
_ci_ub float 7%9.0g 95% Confidence interval, UB
_ml byte %6.0f sex1lbl sex
_atil byte %6.0f sexlbl sex
_at2 byte %3.0f age
_at3 byte %2.0f group
_pw byte »14.0g pw
Sorted by:

6 Make The Graph!

I'm going to want to graph the _margin against values of the _at2 variable. I also want to
graph the confidence interval: _ci_1b and _ci_ub.



Because there is so much output, I only want to do this for specific values of the _pw variable.

label list _pw

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categorical\logistic-plotting-
> margins\profile.do . label list _pw
_puw:

(11 vs (10)
(20) vs (1 0
(2 1) vs (1 0)
(30) vs (1 0
(3 1) vs (1 0)
(4 0) vs (1 0)
(4 1) vs (1 0)
(56 0) vs (1 0)
(5 1) vs (1 0)
(2 0) vs (1 1)
2 1) vs (11
(30) vs (1 1)
31)vs (11
(40 vs (1 1)
4 1) vs (11
(50) vs (1 1)
(5 1) vs (1 1)
(2 1) vs (2 0)
(30) vs (2 0)
(31) vs (20
(4 0) vs (2 0)
4 1) vs (2 0)
(56 0) vs (2 0)
(56 1) vs (2 0)
(30) vs (2 1)
B 1) vs (21D
40) vs (2 1)
(4 1) vs (2 1)
(5 0) vs (2 1)
(5 1) vs (2 1)
(3 1) vs (30)
(4 0) vs (3 0)
(4 1) vs (3 0)
(6 0) vs (3 0)
(56 1) vs (3 0)
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36 (4 0) vs (3 1)
37 (4 1) vs (3 1)
38 (6 0) vs (3 1)
39 (5 1) vs (83 1)
40 (4 1) vs (4 0)
41 (5 0) vs (4 0)
42 (5 1) vs (4 0)
43 (5 0) vs (4 1)
44 (56 1) vs (4 1)
45 (5 1) vs (5 0)

Warning

Remember that pwcompare gives us pairwise comparisons, i.e the difference between the
predicted probabilities for the two groups.

twoway (line _margin _at) /// line graph for margins

(rcap _ci_lb _ci_ub _at, legend(off)) /// range plot w capped spikes for CIs
if _pw == 1| _pw == 18 | /// long complicated if statement

_pw == 31 | _pw == 40 | _pw == 45, /// broken into several lines
title("Difference in Predicted Probabilities Between Male and Female") ///
xtitle("age") ///

ytitle("predicted probability")

graph export mypwmarginsplot.png, width(1000) replace

Running C:\Users\agrogan\Desktop\GitHub\newstuff\categorical\logistic-plotting-
> margins\profile.do .

file mypwmarginsplot.png saved as PNG format
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Figure 1: marginsplot of pairwise comparisons
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